Errata: Underwater Acoustics and Sonar SP411 Handouts and Notes Fall 2007
1.  page 2-19, problem 4.  Change problem to read:

“A plane acoustic wave travels to the left with amplitude 100 Pa, wavelength 1.0 m and frequency 1500 Hz;  
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, while another plane wave travels to the right with amplitude 200 Pa, wavelength ½ m and frequency 3000 Hz:  
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a)
Find the rms average total pressure.  Your answer will not depend on distance x.  (Hint:  rms average pressure (
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, where the <> symbol denotes a time average.  

b)
If 
[image: image4.wmf](

)

10

ppcoskxt

=-w

and 
[image: image5.wmf](

)

0

ppcoskxt

=-w+f

2

, find the rms average total pressure.”
2.  page 3-9, problem 14.  Change problem to read:

“The rms pressure from a low frequency sound source is 200 Pa and the rms pressure from a high frequency source is 100 Pa.  What is the combined rms pressure for both sources?  What is the combined source level in dB re 1 Pa? “
3.  page 4-14, problem 4.  Change “…grazing angle if 15 degrees…” to “…grazing angle of 15 degrees…”

4.  page 4-15, problem 5, part b).  Change “4900 m” to “4800 m.”

5.  page 6-9, problem 5.  Change “Artic Bottom” to “Arctic Bottom.”
6.  page 6-9, problem 5.  Change “smoth” to “Smooth.”
7.  page 6-9, problem 6.  Change “Artic Bottom” to “Sea Water.”

8.  page 8-11, problem 4, Change “For aone-third…” to “For a one-third…”
9.  page 8-13, problem 8, Change the units in the figure from “Frequency (Hz)” to Frequency (kHz).”

10.  page 8-13, problem 8, part a), Change the speed from “30 knots” to “60 knots.”
11.  page 10-11, problem 2, Change the transmission range to 10 kyds. 

12.  page 19-5, problem 4.  Add the label “A” to the ship on the left and the label “B” to the ship on the right.
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